Answers

There are 3 groups with 3 spots in each group. @

There are 3 threes.

3+3+3=9

There are 4 groups with S stickers in each group.
There are 4 fives.

S$+S5+85+85=20

Laura should have written 10 + 10 + 10 + 10 + 10 = S0 because she has (53
made five groups of ten. =y

Accept any correct representations of S groups of S making 2.

How many legs do three cats have? 4 + 4 + 4 = )2
How many ears do four rabbits have? 2 + 2 + 2 + 2 = 3 ~

How many legs do two spiders have? 8 + 2 = 16

How many spots do three ladybirds have? 6 + 6 + 6 = 13
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